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HOME LEARNING PACK
TERM 5

[bookmark: _GoBack]YEAR 7
	 
Learning Objective: 
	Using a calculator
	Name: 
	

	
	
	Date: 
	

	Do NOW Activity: 
[image: ]

	PRIOR KNOWLEDGE CHECK: 
1. I can use a calculator to solve problems

	THE MAIN EVENT 

	WORKED EXAMPLE #1: 
[image: ]

	PRACTICE #1:  
Simplify each of the following calculations.
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	Practice #2: 
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	Exam type Question : 
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Learning Objective: 
	Writing numbers in index form
	Name: 
	

	
	
	Date: 
	

	Do NOW Activity: 
[image: ]

	PRIOR KNOWLEDGE CHECK: 
1. I can write numbers in index form.

	THE MAIN EVENT 

	WORKED EXAMPLE #1: 
[image: ]

	PRACTICE #1:  
Simplify each of the following calculations.
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	Practice #2: 
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	Exam type Question : 
[image: ]



















	 
Learning Objective: 
	Fractions with diagrams
	Name: 
	

	
	
	Date: 
	

	Do NOW Activity: 
[image: ]

	PRIOR KNOWLEDGE CHECK: 
1. I can find fractions with diagrams

	THE MAIN EVENT 

	WORKED EXAMPLE #1: 
[image: ]

	PRACTICE #1:  
[image: ]
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	Practice #2: 
   [image: ]






	Exam type Question : 
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Learning Objective: 
	Equivalent Fractions
	Name: 
	

	
	
	Date: 
	

	Do NOW Activity: 
[image: ]

	PRIOR KNOWLEDGE CHECK: 
1. I can find equivalent fractions

	THE MAIN EVENT 

	WORKED EXAMPLE #1: 
[image: ][image: ]

	PRACTICE #1:  
[image: ]










	Practice #2: 
   [image: ]






	Exam type Question : 
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1. Evaluate

V784 + 652

2. Calculate

@

5

042
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What is total of 500 + 2 + 0.9 + 0.05?
Work out 68 x 27

Simplify 5xax3xb

If x = 4 work out the value of 2x? + 5

Round 0.05498 correct to 1 significant figure
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1. Write down the value of

@ 23
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 Question 1: Write out in full.
g7 =7x7x7x7

@¥ 1 ©r @ @5 ®r
)6 M 12 ) 50° 1" m s (0) 05*
Question 2: - Usinga calculator, work out the answers to Question 1.

Use the power button.
Question3: - Write the following in index notation.

g 5x5x5=5"
(@) 4x4x4 () 7x7x7x7x7x7x7x7 () 2x2x2x2x2x2
)
(@ 8x8x8x8 (&) 10x10x10x10x 10 (0 3x3x3x3x3x3x3x3
(® 09x09x09 () 5x5x5x5x5X5x5x5x5 () 120x120x120x 120

(1) 2x2x2x2x2x2X2X2Xx2x2x2x2X2X2X2X2X 2% 2
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Question 4:  Using a calculator, work out the answers to Question 3.
Use the power buiton.

Question5: Without usinga calculator, find the values of the following
@ ®m3z @2 @5 @10 O+ @

2 [ORY ) 10° (9 14 o st (m) 10° () 9*
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Question 2:

Question 3:

Question 4:

Question 5:

100 can be written as the sum of two different square numbers.
Which two square numbers?

85 can be written as the sum of two square numbers in two different ways.
Show how this can be done.

Tom says “if you square a number the answer is always bigger”"
Show Tom is incorrect using two different examples.

James is adding up consecutive triangular numbers
(a) Write down the first 10 triangular numbers (you may research this)
(b) Add together the first and second triangular numbers.

(c) Add together the second and third triangular numbers.

(d) Add together the third and fourth triangular numbers.

(¢) What do you notice about your answers?

() Will this always happen? Can you explain why?
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1. Match each of the following

T
n
w

3x3
54 5x5x5x5
82 2x2x2
32 2x2x2x2x2x2x2x2
49 8x8

28 4x4x4x4x4

®
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Round 750 correct to 1 significant figure
What is 10% of £1010?

Simplify axaxaxaxa

Find the missing terms 3, ?, 17, ?

Complete the ratios 2:7 = ?:42
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Question 1:

(a)

(d

1
Shade in 3

®)

(e

Shade in each shape by the fraction given.

Shade in —

©

Shade in 2

5
h in —
Shade in 5

W2,
Shade in 7

4
Shade in —
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4.

Here is a shape made from 10 squares.

(a) Shade % of the shape.

)
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Round 60958 correct to 1 significant figure
What is 5% of £320?
Simplify axaxa

Find the missing terms 4, ?, 14, ?

Complete the ratios 4 :
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Question 2:  Find the missing numbers

@ 6 _42 ® 9 63 @5 35 @ 7 _
7 20 12 8 64

G i _32 é _ @7 140 m _ 42

P 1 52 25 15 105

@ 11 8 z _ w13 0] 2 _ 81

16 9 108 25 375 T4
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Question 3: - Write down 3 different fractions that are equivalent to 75

Question 4:  Dave and Tom are discussing fractions.
Is either man correct?

16

1 o
4 is equivalent o 10
5 o %0

5

1 n
5 is equivalent fo;

Dave Tom

Question 5:  Use the grid to expl

why — cannot be written as a fraction with a

4

denominator of 15.
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2.

Find the missing numbers
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What is total of 10 + 0.1 + 0.001?
Work out 55 x 77
Simplify 2xaxb
If x = 2 work out the value of 4x2

Round 5.98 correct to 1 significant figure
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Find V1.69
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Question 1:  Calculate each of the following

@ 9282 ® 113 © o4 @ 36 @ 15%
® 16° @ 213 ® (—5)? O (=22 O (—95)
Question 2:  Calculate each of the following

@ /576 ® 089 (© /218080 (@) \/TO00000 (/9261
© /BT @ /65536 () /T8TZ5 () /1024

Question 3:  Use your calculator to work out the value of each of the following.

Give your answers to 3 decimal places

@ VA5 +35° ® V6 +1.2%

@ 767 +5 @ /97 1.8

© (30.4—1.67)

© /(254 —5.9)*
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Question 1:

Question 2:

Question 3:

Jamie is trying to use his calculator to work out (-29)*
His answer is -841
Explain his mistake.

Hannah thinks the answerto 3.25 — 1.252 should be 4 because
325-125=2 and then2?=4
Explain why the answer on her calculator is 1.6875

768-6.2 21
4514133 73

Simon has calculated the answer to

Explain how Simon can change this answer to a decimal




